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# # HW 1- 6 (1.4 883 ) Page 1 # t

p83 51,52,53,55,59,63 ,65,67*,83 ,85,95 * (seelot)

+ 92 33 *37,39 ,414,49 (sec 65)

os 4x + 1,xs2 I finfind x values when not cout

1 3 - x , x >2 find which crowemarabe

- (2,2 ) non removable when
(0) (2,1) x = 2

. (3,0)

52 f(x)= {x = 4x +1,x72
-2x ,xsz

 (2 , -4 )

6 f( x)= x

 topp non removabe at x =2

I tant , xk !
Esame as -1 < x + 1

x ,lx21 all, tanto

Recall /

iscoden
RrA: I f6x) is
cont , ou IR

(33) f(x) = cScZx = sin 2x

- so vert, asyn. at ax = nt nt z

x = nI ne z
. (non removable
a far contimmity

3x x 21 . Since 3x2 =3
)= 2 ax - 4 ,xal We need ax - 4 =3x=1

-
xs -1 a - 4 = 3
2
axtb , 1< x< 3 -D a (-1) +b = z

2 -2 , x33 al3 ) +b = -2
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# #HW 1-6 (1.4 p83) Page 2 # #

P83 65,6783,85,45*
f(x)=x² Discuss cont of h(x)= f (g(x))

g(x) =x -1 ha ) = f (x-1)= (x-1)²

- continum on R on polymounds are cart

67 f(x)= x h(x)= f(x²+5)= (x2+5)=6

g(x)=x²+5 So x²+5 - 0 to

Why must then bearoraezero on x caunt be Il

a f(x)= 2x* _x²+4 on [1,2 ]

Sines f is cont , on [1,2 ]and

f(1)=3,085 and f(2)=-2 %

There is a c in [1,2 ] such that f(a)=0
x² # 1

by the I.N.T. .. 13.083;2 .6 ]
. (zero is in 13 .083 72 .6 ]

(85) f(x) =x² -2 - cosx on [o,i ]

Since f(x) is continuon on [o,iT ],

by the IVT there is a c on [at ]

such that f(0) = f(c ) = f(IT)

f(0) = -3 and +(T )= 8,869
There is a f(2) = 0

B f(x)=x²+x - l on [os ], find a sof(c)=11

Sine f is cont on R the IUT states

there is ac where f(0)=-1 < f(c)=11565)=29

x²+8 - 1 = 11
1 x 7 x 12 = 0

(x -3 )(x +4 ) = 0
c = 3

(Note while -4 makes azoo,it'snot [05]
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# # HW 1-6 (1.5p92) pages3 # #

892 33 *,37,39,414,49

1. Is the discontinty @ x =ol removable or a vertial

(33)f(x)= xe =l +(-1)= (-1)=1 o indeterm.

. f(x)=(x-1)(xt ) so ahole ,arenovationenty
- asymptote

X 2 +

 - -
x +3
lim-30 x² +x - 6 lim
X -5 (x +3 )

(x+3 )(x -2 )
X

 uw
x20= - 3-2 = ř
@ limpo (1+ ²)= lime (x+1), on the

A lim -x sectio)

lim coxox o E =to
3

 cos
TX

 Y >0 and leftof cost/ 70

confirm w / numerica and graphical methods:

x 1:41.4491.51.501 .51 .

f(x) 115.61158.8 ? 1-154 tis . I
/ /


